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Directions (71-73): Study the following
Information carefully and answer the questions
glven below.

A person from point F drives towards the south
for 3km 1o reach point B, where he takes a lef

tum and drives for 12km to reach point H. Then
he takes a right turn and drives for 8km to reach
point R from where he tums to his right again
and drives for 8km. He then drives for S5km afler
takinganmlunatpomum.druchesponmn
Al this point he takes a left tum and drives for
8km to reach point V, where he takes a right tum
and drives for 2km to reach point K. He finally
stops at point Y, which is 3km to the west of
pointK.

71) In which direcion|s point B with respect to

73) Whatlis the shortestdistance between the
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pointsKand F?
pointY? a) v22km
a) East b) 2v6km
b) east c) Skm .
Oy 51 skem
d) West e) None of these
e) None of these
74) i itis possible to make a meaningful word, RA\I\SH ‘\AEMT

usingthe i, fouth, sixth and eighth letiers
from theleft end of the word ‘RAVISHMENT",
thenwhat|s the |ast letter of the word formed? If
no such word Is formed, markthe answeras "Y",
If more than one word can be formed mark the \N\'| H &
answer as ‘X
a)D

b)L

€)X
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75) How many such pars of numbers are there
In the number “81346528" each has many
numbers between them as In the numberseries

(both forward and backward)?
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a)1
b)2
¢c)3
d)4
e) than four

Directions (76-80): Study the following
Information carefully and answer the below

questions

Six persons-P, Q, R, S, T, and U are sitting on
—————

the circular table and facing centre. They like

different fruits- Banana, Mango, Apple, P
Cherry, and Orange. All the information is not
e ——

77) Which of the following fruit Is liked by U?
a) Cheny

b) Orange

c) Banana
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80) if all the persons are arranged In
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P, then who among the following person | lkes
%mlnmmn

a)Q

b)S
. €) The one who sits opposite to P
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e)U

Y =

23 L Y67«
3 WS e

A0 digh wumboc b Y Wak whow UG dphs ave
«fwe;ygw\ L Moy Wu\omko»a 27 . Hmw/wa e

ers  oxak’)
a}) -~ 5) "’U'D c) WNUb /dv UAo.mU\/Yu e) Nons -

le. —» 21

I

0L+ & = (10048)=2F
9b -qa = 23
(b= - 22

= WO+ 2.
ba = bro+e = Obta:

b — &b =273 @

b

[/
— ly 4l
! W 52
5

\
2 2L 6%



N S

_ | ]
5
) o
b=at3 - 3 6
¢ @ cg v
c 9 6 1

Xilt MWMWW‘*Z

\
CC,E' [
— 2 oY
D=0 - el Lo
- Yt ece s
|6 - ‘
\Jo B ) 6 30 K| ‘
*7(1:7 v = 70) 10 - X0 He T
byb =3E) 00 Tqw.o Qv —



